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The five rings on the Olympic flag represent

1. Five Continents of the world

2 Five Oceans of the world

3. Five ancient Olympic cities

4. The Five Elements (Panchabhutas) in nature
&60IDLNS E\HMQUIEYITTET 5 EUEMEMUITISHET GSHILLIBeuE
1. 2 _6uf6lT H&| HEUIILIRISHET

2. 2 eodel BB 6WHRISLEOSEET
3. ©®©bF UDPeHWTET 60IDLSG HEHITRIGET
4.  Bubemsulett &g FaNGETUEHFLLSHISE)

Options :
1.¥ 1
2.% 2
3.%3
4. % 4

Question Number : 2 Question Id : 3922664722 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Identify correct sentences related to 101* satellite launching by
ISRO

a) EOS — 09 satellite

b) PSLV - C61

¢) Agriculture. Forests. National security

d) Successfully launched

ISRO Sisniifw 101 eugl OFWHensECsT6iT
E\FMLTLemLW &FlwmesT eumsSWkiseneT SHeuorL)
a) EOS - 09 e\sWwmhen&Esmer

b) PSLV - C61

¢) efleugmuid, SHMB&H6T, G UMHISTLIL

d) QeuDMISILONS eTeULLL LS

1. a.c.d

2. i. bt
3 ab.¢ d

4, b ¢ d
Options :
1. % 1
2.9 2
3.% 3
4. % 4
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The first Governor General of Independent India is
1. Lord Mountbatten
2 C. Rajagopalachari

Lord William Bentick

(8]

4. Warren Hastings
&SHAT BEHUMEH6HT (LPFHED SHEUTETTT 6IER6TTTE0
1. 60MT(B LDeyevoT. GLIL L 60T

2 C. @omREsmumeongaiil
3.  eomm(B efleuedluid EILIGTOTIQIES

4.  eunmelr Gaumerlerkien
Options :
1.v 1
2.% 2
3.%3
4. % 4
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Match the following

i. Peking a) Netherlands
ii. Mesopotamia b) Beijing
111. Holland ¢) Iran

1v. Persia d) Iraq

usmpW WHMID LHw ewwrseflesr sflwimeot
BewertHemeT SHeuor(BLIL.

i 6B a) E\BSTELMHE)]
ii. eWpauGLmuswm b) Sedmk
iii. QMTELHE) C) FHTIT60T
iv. ewregwrmr d) Fgns
1. i-4. n-b m-~¢c w=d
i ich ned Hisa IFsE
3 1-b, H-d MW-¢ W-4g
4. i-d #=b MW=a W=¢

Options :

1% 1

2.9 2

3.% 3

4. % 4
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The authority to approve the state budget when it is under
President’s rule

1. The President
2. The Governor
3. The Parliament

4, The State Assembly

@@ WmMBD GRWIHS FeneveuT prHuletr S
2 6TeTGUEl SIDDMBeSH LLOIRIIRNEG SLILISD
Slerfluug)

1. SRUTHS SHEDELEUT

2. SpEmmI
3.  LNDMEHBLDETMHLD
4. LDMB6L FLLFemL

Options :
1. % 1
2. %2
3.3
4. % 4

Question Number : 6 Question Id : 3922664726 Question Type : MCQ Option Shuffling : No
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The Chairman of Advisory Committee on Fundamental Rights
of the Constituent Assembly was

L. Jawaharlal Nehru
2 Vallabhbai Patel
3. B.N. Rao

4. B.R. Ambedkar
GITFWIEOEWIDLIL] FLUL FewLUI6I HIQUILIEDL

2 _Memast Wsmenr UMbgenT GeNesr Hensosur
1. geuamieomed Gi(hH

2. eueveoLILIMI LIGL6D

3.  B.N.gmey

4. B.R SIDGUSSIT

Options :
1. % 1
2.92
3. % 3
4. % 4
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Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The bonds 1ssued by the World Bank in 2014 to support
infrastructural projects in India are

1. Samurai Bonds
2. Dimsum Bonds
3. Honey Bonds

4. Masala Bonds
BHBAWNeley HQUILIEDL 2 6T L eWLDLIL]
SULRISEHSSMS 2014 S Shetti(B 2605 6URS
euefluiL usSrseT
1. FMUPIMU USSITRIGET
2. SW&FD USHOTRISGET
3. eamefl usSTHRISET
4.  LDEMEON UGHIMRIGE
Options :
1. % 1
2. % 2

3. %3
4.¥ 4
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Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Choose correct pairs

a) Basava Puranam - Gonabudda Reddy

b) Rajasekara Charitham — Kandukuri veeresalingam
¢) Dasarathi Satakam — Kancharla Gopanna

d) Chaduvu — Kodavatiganti Kutumba Rao

gilwmenr eflewLent GCsMHESBSHSHEULD.

a) Lu&ey L|grestrid — GanenTlssn 6Ll

b) @rneRGaar g - angiFafl 656GrFedtisLD
C) GNETH FHHD — HEHFTEOT GHMLIGTOTETOTT

d) #5516 — O\&MLEUQSETTY &L [TIT6)

L a. b c

2. a. d

3. b, ¢ d

Options :
1. %1
2. % 2
3.¥3
4. % 4
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The first National Security Advisor of India was

1. Shiv Sankar Menon

2. Brajesh Mishra

3. Ajith Doval

4, M.K. Narayana

SmHwneilesr (paev CaFAW UMHISTUL S EeongFsHT
1. dleugmsm @Leorer

2 NoGeeip Wlexonm

3. Oigls Gsneuso

4, M.K. mrgmwesorT

Options :
1. % 1
2.9 2
3.% 3
4. % 4
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Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Choose correct pairs

a) First female governor - Sarojini Naidu

b) First chairman of National Woman Commission —
Jayanthi Patnaik

¢) First Woman Chief minister — Suchetha Kripalani

d) First female Fighter Jet Pilot — Avani Chaturvedi

giflwneor eflewLem Sevor(BLILQ.

a) (PH6L 6II6TIT A ETHBIT — F@rmedlerll mmML®

b) Gl EICTITHET SHhEWEITUISHET (LPSHEL GFTLDEIT —
ORWHS UL IHMWS

C) (PH6L 6IIEVIT (LPHEVEWDFFIT — HEFSHM HIHLIEOITEUT

d) GumT efNDmETISHET (LPHEL 6I6voT eAlDmeufl — DHeueufl

FanGeaus
1. b, ¢c. d
2. c d
3. a. d
4. i-b e d
Options :
1. % 1
2. % )
3. % 3
4.9 4
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Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The famous painting “Nair Lady’ was painted by
1. S.H. Raja
2. Jamini Roy

Raja Ravi Varma

S ]

4. Rabindranath Tagore

yswewmm ‘mmui Geolp’ Pefllsens euemIrbgeu
1. S.H. gmeam

2: gMusleufl o

3 grgem gefl eurmm

4. Suelindomng smaam
Options :
1. % 1
2.% 2
3.¥3
4.% 4
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The Defence Research and Development Organization’s
(DRDO) head quarter is at

L. Hyderabad
2 New Dellu

Chennai

L |

4. Bengaluru
UTSISTIY Shomugsd wohmid Gwum' @ BmieueoriD
(DRDO) S6m60enDWSLD 2 _6T6em @LLD

4 LSIMUNS
2. Usiigeoed
3. 6\F60TEMETT
4.  6WIMISEEHTH
Options :
1. % 1
2.2
3.% 3
4. % 4

Question Number : 13 Question Id : 3922664733 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The author of the book ‘The Kingdom of God is Within You’ is

1. Charles Dickens

-2

Leo Tolstoy

Albert Einstein

[N

4. Maxim Gorky
“The Kingdom of God is Within You' etéQld L&S&5H601
S Arflwir

L SMITE06N 1R&SHSHETEN
2. 60lGIM  LITED6IOLITLL
3. SHEOLIMTL.  E60TENLR6D0T

4, Gwaedd Gamid

Options :
1. % 1
2.2
3.% 3
4. % 4

Question Number : 14 Question Id : 3922664734 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The ‘Pradhan Manthri SVANidhi® scheme is for the economic
support of this group.

L School Ayas

Z, Government women emplovees
3 Street Vendor

4 Household Women

‘Wgsner B eveunBs’ erenid SHULD BHS
aGuienmHesd B 2 g6l OFweiens GHN&H&HIDNs
6\ MEVITL G|

1. ueTerflufled ustoflyflyd Spwnsseit

2 OiI& 6WI6V0T 2emPIUINTS6IT

3 615 mHGeuny  efwimuinilger

4 &[BLDL  6\LIEUITSH61T

Options :
1. % 1
2.% 2
3.¥3
4. % 4

Question Number : 15 Question Id : 3922664735 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

In India the Goods and Service Tax Council was constituted i
the vear

Smduneilev s15@ WLOHMID GFemeu eurfl FHeyeordlsn
gOUBSSULLL  She001(B

1. 2012
z 2016
3 2018

4. 2014



Options :
1. %1
2.9 2
3.%3
4. % 4

Question Number : 16 Question Id : 3922664736 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

On 28.29. December 2024 the 6™World Telugu Writers
Mahasabha was organized in this city

1. Rajahmundry
2 Tirupati

Visakhapatnam

L |

4. Vijayawada

2024 34D Sp6vor(H RFDLIMT 28,29 &erfleo, 66ug)
O\FENRIG 6T(DSFHTETTHATE LD&ETFamL HewLELDD
SLID

1. OMERLDIHEI

2. Bmuud
3.  eflgnsuLigeond

4, edlERueUmLIT

Options :
1. % 1
2.% 2
3.% 3
4.9 4

Question Number : 17 Question Id : 3922664737 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



As per the ‘Beti Bachao Beti Padhao™ report for 2023-24 the
sex ratio at birth (SRB) has increased from 918 to

‘Gu uFFn@eum  Guip uLTGeunm’  2023-24 Sievoi(B
Sifsemauilesr L, Wpuy wumedleor efldsL (SRB)
918 eOl(HBEH @eu6ueTe) 2 WIMHSSI

1. 950
2. 970
3. 930
4. 940

Options :

1. % 1

2.% 2

3.¥3

4. % 4

Question Number : 18 Question Id : 3922664738 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

The new Governor of RBI appointed in December 2024 1s

1. B.V.R. Subrahmanyam

2. Madhabi Puri Buch

Shaktikantha Das

LS ]

4. Sanjay Malhotra
eFDUM 202460 Buwblssuu’L @mpdw  Mame
eurRISUWIletT LBul SHeurmeu

1. B.V.R. &ULbevsfluLd
2. wsmi flus

3. SFHIHEMHS S6N

4.  FEpFW euGamnsnm



Options :
1. %1
2.% 2
3.%3
4.9 4

Question Number : 19 Question Id : 3922664739 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
This country has become the World’s 31
exporter as on December 2024 1s

. England

argest smart phone

2. Brazil
3. Iran
4, India

&FDUT 2024 60 2 60860 36ug| WISHLELIHLD
6\F60@UTelT eIMMILDE O\FWIWLD BILAS efleTmduig)

L BhRIBONHG)

2 NG &lev
3. FFJTT60T
4. @mpHwn
Options :
1. % 1
2. % 2
3.% 3
4.9 4

Question Number : 20 Question Id : 3922664740 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



On 14 December 2024, the President of this country faced
Impeachment resolution

L. Taiwan

2. South Korea

North Korea

4. Thailand

FIDUIT 14, 2024 60 @FEG HALRET BHHUMT HDLIGHMS
BRe060T STDMETIHENS ETSHTENSHTEUITL I,

T2l

L EDGEUITE0T
2. 6156016 STl

3. euL e\ mrilwm

4.  FMUEHF

Options :

1. % 1

2.9 2

3.% 3

4, % 4
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Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 3922664741 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Viharas. monasteries are the educational centers of this time
1. Jain period

2, Buddist period

3 Modern period

4. British period

60lQDMIM&S6, DLMIGSET &606ll BemeOLmI&SeTTS: SHHS
ST60LD

EMERET  HIMEOLD
2, LGS SIT6OLD
3.  [pelieoT &meolD

4. flLipen smeod

Options :
1. % 1
2.2
3.% 3
4. % 4

Question Number : 22 Question Id : 3922664742 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
“Philosophy 1s Science™ said by
1. Cicero
2 Aristippus
3; Rousseau
4. Fiche
“BHGI6N BWED M Hnlellweo” 6160TSH FamlueurT

L. gl&ICom

2. SArfleroigLien
3. emGaT

4. HGs



Options :
1. % 1

2. %2
3.% 3
4.9 4

Question Number : 23 Question Id : 3922664743 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The Eswaribhai Patel Committee suggested that the teaching
and learning of SUPW should take place in this number of
stages

reneuflumy ULGLeL G ufibgensuler UL,
SUPW &Dméd &DUSSH60 HEMLEWIMID UIHeme0sH6rT
i, A
2.

L

ad
ek I

4

Options :
1. %1
2. % 2
3.% 3
4.9 4

Question Number : 24 Question Id : 3922664744 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



NEP - 2020 has announced that model government
universities that can provide education on par with IITs and
IIMs will be called by this name.

IIT, IIM &eh&@ owmen Seoelen SHeflassamalgwl
IS BTG L6OSHMEVSHDIMIGENET BeUCUTN) HeMDSHS
Geuetor® et6or NEP — 2020 Sinfleflg&a.

1. National Institutes of Eminence (NIEs)

2 Central Umiversities of Excellence (CUE)
3. Multidisciplinary Education and Research Universities
(MERUs)

4. Institute of National Importance (INIs)

Options :
1. % 1
2. %2
3.¢¥3
4. % 4

Question Number : 25 Question Id : 3922664745 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The Child Labour Act 1986 defines children are those who
have not completed the age (in years)
GLHBENS G\GTDeOMETT FLLID - 1986, &BES UG
BELMEY HEMLIWMSEUTHNET GSLHENSHOTTSH SHIULILLS
1. 10
2. 18
3. 14
4. 16

Options :

1. %1

2.% 2

3.¢3

4. % 4



Question Number : 26 Question Id : 3922664746 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

‘Academic Guidance Register’ is a

1 Supervision and Inspection Register
2 Resister of Correspondence

3. General Register

4. Financial register

‘seoefllFmm O\FweounL® eubsMTLBH60 LHCeu® 6T6oTUS
2 GDUMTEmeY - HEMNHMS LSEU®

2 &G \FMLMY USCeu®

3. ewng UPSCeu®

4. Bd uHCeu®

Options :
1.9 1
2.% 2
3.% 3
4, % 4

Question Number : 27 Question Id : 3922664747 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



According to the UNICEF, UNESCO, WHO the skills of
‘Empathy’ falls in the following life skill domain

| & Social skills
2, Thinking skills
Communication skills

4, Managing skills
UNICEF. UNESCO. WHO eor uip, ‘urfley’ etequd Smeur

SHL6HTaD eumDeilLed ST SHETHHe0 SHEMLDILD.

L. DG SMEUTSHET

2, SIBBEMETT HMETTSHET

3. SHEUD CVFHIMLMTL HDETTSHET
4. GLD6LMTETITEMLD HMETTSHETT

LS ]

Options :
1.v 1
2. %2
3. % 3
4. % 4

Question Number : 28 Question Id : 3922664748 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

According to the RTE Act -2009, the teaching hours for 1-5
classes in an Academic Year are

RTE &11D-2009 60T LIQ, €H &e0eillmesongsd 1 eSlpBESH 5
EUGSULIGHET 6uelIUTed G\L6LLL Goustimol SDLGSH60 STe0LD
((Dsuoflser)

1. 1000
2: 800
3 600
4. 500

Options :

1. %1

2.9

3.% 3



4. % 4

Question Number : 29 Question Id : 3922664749 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Through these constitutional amendments, a policy has been
formulated that schools operate under the ownership of
Panchyat Raj

L Y Ty e s
SiemLDLILII6TT GLDEVTETITEMLDUTED LIsTTerfls6IT S\FILISOLIBLDLIL
EVBITETTEMS 2 (HEUTHSLLLL G

1 87. 89
2. 83, 84
3 78. 79
4. 73,74

Options :

1. %1

2.% 2

3.% 3

4.9 4

Question Number : 30 Question Id : 3922664750 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



These opportunities should be provided in schools for
knowledge construction

1. English language teaching
2. Strict discipline

3. Questioning and discussions
4. Strictly conducting exams

Sinley SLLeMUIDSNS UeTeflgefieo euDmD&
sumuLueflss Geustor(BLD

1 SpmPe0 WM SDLISH60
2 SHEUTIQUILITEN  6(LD&ESLD
3. 6llevTeYFH60 LDMMILD HEVHFHIENTUIMLED

4. CHITEYHEMET SHEMTIQLILILET [BTeuBSHH60

Options :

1.% 1

2.% 2

3.3

4. % 4
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Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



If the chronological age and the mental age of a boy are 15
years and 18 years respectively. then his Intelligence Quotient
(IQ) 15

om dmeuetilest SMed  6ug WOMID  LDETTEUWLIG)
PpemMGW 15 UHLMISGET MHMID 18 CUHLIRIGET 6Teufled
gmieueviledt mietoTevormey ey (IQ)

L. 120
2, 130
3. 140
4. 150

Options :
1.v1
2. % 2
3.% 3
4, % 4

Question Number : 32 Question Id : 3922664752 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Teachers should have the knowledge about Individual
Differences because

L They can assess the students easily.
2. They can understand the family background of the
students.

fid

Educational opportunities can be provided basing on
student’s abilities.

4, The financial status of students can be improved.
Spdflwisensd seflwmer Geubmiewd  \SmLTLImesT
Sinfley GHemey. eI6I6uTElE0

1. LDIEUOTEUITSHEMET 66T NS  LDHLILN(BeuT
2, Lonevreuserflest &@LU Letteorenflem SHnfleurt

3.  |pmevvieuTSarfledl SNEMDSHEHHS DU Hevef
SUMILIL|SEET  HerflLILT.
4. LDITETOTEUMT&ETTI60T IIMIHETTSTT [HemevemiL
EHITEGE: B
Options :
1. % 1
2.% 2
3.3
4.% 4

Question Number : 33 Question Id : 3922664753 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Barrier to creative thinking is
L. Foster independence
. Strictly following rules

Encourage curiosity

Td

4. Develop a broad and rich knowledge base
SEHSHNEN FHFHMEVHS SEMLWNS BIHLILIEWEY
1. SeallFemEwns 6ueTige0

2. el@zmemer sevorioUiLedT LNTTLIDHDISHED
3.  Sheuemen 25 G6N5560
4.  efifleunesr FApuuneor BioLiLiewL SHjleme
GBS SIS0
Options :
L% 1
2.9¥2

3.% 3
4, % 4

Question Number : 34 Question Id : 3922664754 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Creative writers. poets and people with high literary knowledge
possess high level of this intelligence

1. Mathematical logical intelligence
5,8 Music Rhythms intelligence

Naturalistic intelligence

TJJ

4, Verbal language intelligence

SpSHESEDENIEOLII  61(LRSSTOTTSHET, L|6OATSH6IT LDHMILD
s @eosdw  NleyenLeTHeT  Ddsereileo

OUDM(HHSLD HISOITETIIMIEY 6UEDS
1. sissfdwunen sewlls mieoremrniey

2.  @Bew& C\FHMLITLIMEDT [Rl6voTevornley
3. @WDhemSET [Hi6voTerornley
4.  6\FmeLFMT GWDMPIUILIED [Hi6vITEvITANEY

Options :
1. %1
2. %2
3.% 3
4.9 4

Question Number : 35 Question Id : 3922664755 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Choose correct answer regarding the Psychologist and

Experiments

1. Ebbinghaus a) Memory

ii. Alfred Binet b) Emotional development
iii.  Elizabeth Hurlock c¢) Intelligence Quotient
iv. JB Watson d) Developmental stages

2_emeflied SHMEHTSHET MM UMGFTSHeneuTSH6iT
e\FMLITUNS &iflwnen eflemLenw C3MHEESO.

i. erIRiQmTen a) [BemenTeY
ii.  Speoligr LNGeor b) oeoTE\U(WDEFE] 6ueTTEE
iii.  eTellFUS emeons ¢) [pl6TOTETOTINEY FH6Y
iv. JB eumL&eor d) euentiied [Bemeos6T
1 i—a, ii—c, iii —d, iv-Db
2. 1—a. ii—b, il —c, iv-d
3 i—d, 11-b. 11 - C, iv-a
4. 1—a. 11-d, i1 - C. iv- b

Options :

L.v1

2. % 2

3.% 3

4. % 4

Question Number : 36 Question Id : 3922664756 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



A man works in a company. Recently he started working hard
hours together expecting a hike in the salary. Here the motivation
15

I Achievement motivation
2 Intrinsic motivation

: Extrinsic motivation

4. General motivation

EXHEUT 61 SHLDLETTUT6L Gouemen 6VRLG| 6WHTETUNY RSB,
ABL &meolDTe FADUET 2 Uiewey  CIHTLIMISS| SQsIDIS,

DiPs GHID Letofl 6RUSBEIMT. Sieufled 2 simem 2emssid
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Chimpanzee 1s used as subject in experiments conducted in this
learning theory

1. Classical conditioning

2. Operant conditioning

I'JJ

Social learning

4. Insightful learning

8rg shmev Gamun@® ufGsngsmenserlev,
fbumehd GFMsemensE 2 L LI(BLemeULITS
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Example for a Projective technique is

1. Rating Scale

2. Children Apperception Test

3. Questionnaire

4, Minnesota Multiphasic Personality Inventory

UDSCsONI HIETIPenDES aBSSHISST B
1. ST DHeTeyGsmev

2.  GLHMSHET BRenTSSHN CFTHemet
3.  efleorm [Breo
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Options :
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People with comprehensive personality have this characteristic
L. Self-awareness

2. Emotional instability

fad

Lack of decision making capacity

4. Pessimism
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2.  eu66upFE Bemeoudleiremip

3. (peeuBEELD Smevfleveomemid

4.  mBLUISmSUWI6TEmLD

Options :
1.v 1
2.% 2
3.% 3
4. % 4

Question Number : 40 Question Id : 3922664760 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



In Thematic Apperception Test. number of cards used are
1. Picture cards 20. White cards 10

2, Picture cards 30. White card 1

Picture cards 25. White cards 5

4, Picture cards 20. White cards 20

fad

ewnmeTn) ewewnigsn Congenestuieo (TAT) LwedT
UBSSULDBLD SHLeWLSHEIT60T 6T600T6001Hena

1. UL BLemLSEET 20, 6l6U6TemaT BHLemLEH6T 10
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Section 4
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Section Number : 4
Section type : Online
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Number of Questions : 80
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Section Marks : 40
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Sub-Section Number : 1
Sub-Section Id : 392266157
Question Shuffling Allowed : Yes
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Expansion form of NADPH

L, Nicotinamide Adenosine Di Hydrogen Phosphate

2 Nicotinamide Adenosine Dinucleotide Hydrogen Phosphate
3. Nicotinamide Adenosine Dinucleotide Phosporous Hydrate
4, Nicotinamide Adenine D1 Phosphate Hydrogen

NADPH et eflfleun&&L

1 [BG&MeetTemDL.  DHIQBETTTEIEET WL EWEUDL TE60T
LImerGLIL
2. BGsmoettemDL HHQG6uTTHE0T emL
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4. [BGsmgeviembl  Agevfleor  emL  umeGLL
EWEUDL [TE260T
Options :
1. %1
2.2

3. %3
4.% 4

Question Number : 42 Question Id : 3922664762 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The overgrowth of Algae in ponds will ultimately results in
decreasing levels of

I Carbon dioxide
2. Oxygen

Nitrogenous materials

LS ]

4. Chemicals

GG B0 DHeTeUEEHHEDNG SHEVENHSHEIT
EUEITITFFLIEDL6USTED, BeuDmlerT SHeTe] GewDBDS)
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The global warming is due to

1) Human activities

1) Depletion of forest area

i11)  Industrialization

1v) Using CNG as fuel

U6l 616ULILILDEWL GUGMESTE0T SHMTEU0TLD

i) ID6UlS HLOUISEWSHSHET
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The gas that is produced due to incomplete burning of fuels

i Carbondioxide

2. Nitrogen oxide

3. Carbon monoxide
4. Nitrogen

eTMEOWMIBL&6T  (LPDEWDWINS  eNfl&suuLtg — Guns)
2 (HeUMGLD UL
1. ST 6wl SHhEHDFD
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Identify the inorganic impurities in sewage water

1) Nitrates

1) Urea

1)  Phosphates

iv)  Herbicides

seybileo 2 eitem, &evlld SFSFHWS FHEMLNMBHIEG.
i) emBLGIL6M
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Birds find the directions for their migration by

1. Following coriolis effect.

2. Observing ocean currents.

3 Using the magnetic field of Earth.
4. Changes in air pressure

LDED6USET, 6uevens GUTEUSNES SHenFsHemern SHeuorLmll
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Deforestation does not lead to

1. Increase in temperature and pollution.

2 Increase in water holding capacity of soil.
3. Decrease in humus.

4. Decrease in ground water.

SMTBHmaT AhSFH60 RFDS UDEUGHHTE)
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This 1s not a part of Pachmarhi Biosphere Reserve

1. Bori

2. Satpura

3. Lockchao

4 Tawa reservoir

&g, ugLian 2ulMGsmer STUUSSDET UGSD
DI6V6D

1; Gurrrfl
2. SOSLOT
3.  eonssm@eur
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Options :
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This helps to reduce the consumption of fossil fuels
1) Using public transport
1) Turning off fans and lights when not in use
1i1)  Using solar energy
LIQID  6TMlEWTRHET LIWLEITLML DL GeDD&HES BR5)
UwesTUBSEMS)
i) oung GUNESGEUISMS LWETLI(BSSH6US
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Niche does not denote
1. What the animals eat
2 Number of organisms

Animals mode of life

ad

4 Organisms occupation

'BF el6tTLG QWS SNSHTG)
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The disease caused by bioaccumulation of methyl mercury

1. Multiple Sclerosis
2. Silicosis

3. Myosarcoma

4. Minamata

Wengeo OWDMGMudest LIGWMBISULLTGe06Q60TTE0
UG Comu

1.  && U6i(P& SHIQETTLDITS6D

2. Se0iGsmdlen

3. LGWIMEm@smDm

4. IOlevfllDmeLm

Options :
1. %1
2. % 2
3.% 3
4.9 4

Question Number : 52 Question Id : 3922664772 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The percentage of biomass transferred from one tropic level to
the next in a food chain is

Q(H 2 emuteyEF  SFRIGE0UTleV, ) SHDMED
DULEEOBHE ~ HBSS — SpDped  WLLEEDES
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3.¢3
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The dead cells in phloem

1. Sieve cells

Z Sieve tubes

3 Phloem fibres

4. Phloem parenchyma

SLGemmugSeqieiter 2 ulgbm 61F6056iT
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The best method for watering fruit plants. gardens and trees

1. Sprinkler system
2. Chain pump

3. Drip system

4, Rahat

ULDEOFIR&EET, GSHMLMIGET OMID IRGEHSS B
UMLESHSSHG B Fpmbg BIUnse wpemm
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Vitamins available 1 fish

1) E
1) D
11)  Niacin
iv) A
el BewWLEGID smEUL LLOETTSEIT
i) E
i) D
iii)  Buwmdleor
) A
1. 1, 111, 1v
2, 1. 1v
3 1, 11, 111
4, 11, 111, IV
Options :
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Identify the festivals that are associated with harvesting season

a. Pongal

b. Deccan festival
& Bihu

d. Nabanya

&I@Eﬂﬂﬂ.MLﬁﬁT CVBMTLITLEWLIL SHIHHBTEWET ST MIHHD.
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The microorganism that reproduces only inside the cells of the
host organism is

1. Bacteria
2 Virus

4 Fung

4. Protozoa

eLulfl 2 ulflensder 61F605EHSG6T L(HELD
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‘Anthrax” disease causing bacteria was discovered by

1. Robert Brown

2 Robert Hooke

3 Robert Koch

4. Robert Villium

"OLHBSITSHEN” CHTenW 2 eLmSH@&L  unsleflumeney
&600T(BLIL S 6uIT

E Somum. Ye\gerest
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Options :
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Protozoan diseases among the following
1) Tuberculosis

ii))  Dysentery

iii)  Typhoid

1v) Malaria

SpaaenLeuhmled LGIm GLm@Fmeureflsommed erLIBLD
Grmu

i) SMFE@mMU

i)  euulhnILCUTES

iii)  emLUMuU®
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Options :
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‘False’ statements regarding ‘mitosis’
1) It helps in growth of tissues in organisms.

i) Daughter cells have half the number of chromosomes
than that of the mother cell.

ii1)  Mother cell divides to form two identical daughter cells.
iv)  This process will not help in repair of tissues.
‘emLLTENleN &M ‘Seunner sanm)

1) 85 e Wifleomsefler daauenisdlsg 2 seydng

i) GFW 6\F6V&HET, SMU 6\FeuSHemaTellL LM
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1. 1 &il
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Options :
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*All cells arise from pre existing cells”. suggested by

1 Leeuwenhoek

2. Schleiden - Schwann
3. Virchow

4. Purkinji

" HMGFH 6\FOHEFHD (LPHEOlsQETaT E\Fs0S&6rT60
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Identify the mismatched pair from the following

1. Collenchyma — Flexibility in plants
2 Sclerenchyma — Husk of coconut
3. Aerenchyma — Storage of food

4. Phloem — Transport of food
SDSGEILUDMIEL EWMIBHEST GeRmoemul SHevorL.

L GSHMTEVEITEMSHLDT-STEUNTRISETIED 6)HBLDEYSHEIT6WLD
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Options :
1. % 1
2.% 2
3.3
4. % 4
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Correct statements regarding unstriated muscles

i) They are also called smooth muscles.

1) They are voluntary muscles.

iii)  These cells are spindle shaped.

1v)  These cells are multinucleate.

suflubm FewaseT GMss sFflunenr Fambm)
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Match the following

L Smooth endoplasmic reticulum A, Lysosomes

1L Energy currency B. Synthesis of Proteins

III.  Rough endoplasmic reticulum  C. ATP

IV.  Suicide bags D.  Synthesis of Lipids

EDSHHEIL6UDHEDD CILIMIHSSHIS.

L GULDGULDLILIMTETT  6T600TGLIT A eweuB&ETGEMDSEIT
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A
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Options :
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Cockroaches have
1. Three pairs of wings. Two pairs of legs

2 Two pairs of wings, Two pairs of legs

LS

Three pairs of wings. Three pairs of legs
4. Two pairs of wings, Three pairs of legs

sruumest Lpgdufeo Geweu smeworLL(BLD
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‘Rib Cage’ formed by
1) Ribs
i1) Pelvic bone
i11)  Chest bone
iv)  Backbone
‘elleorm eTeQlbL] FaB BEUDNIETTTEL SHEUTS)
i)  efl6om ereqILbL]
i)  @OLUY eTeyLDL]
iii) DML 6TeYLDL
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This 1s NOT the character of a desert plant

1) Loses very little water through transpiration.
i1) It has broad leaves.

iii))  Photosynthesis is carried out by the stem.

iv) It has roots that go very deep into the soil.
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Example for ‘Divergent evolution’

1. Fore limb of a Whale — Hand of a Human

2. Wings of a Bat — Wings of a Butterfly

% Fore limb of Cheetah — Wing of Butterfly

4, Wing of Bat — Wing of Bird

“Leveul UMemTMDSHDGS L _SHMI6urD
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‘Archeopteryx’ is a/an
1 Connecting link
2. Living fossil

Evidence from embryology

T4l

4, Analogous organ
SpTSBWLMIEILTS6N 6T60TLS R
1 BemeTLILF FRIS60!
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Dominant trait in pea plant

1. Yellow colour pods
2, Axial flowers

3. Constricted pods

4. White colour flowers
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Options :
1. %1
2.9 2
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4. % 4
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The correct order of stages of a cell cycle
6\F60&IDME [Bemevderflett &flwinenr eurflens
1. S-G-G—-M

M-S-G -G

3. Gi-S-G&»-M
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)
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Identify the correct sequence with respect to reflex arc

1. Sensory nerve — Receptor — Motor nerve —
Interneuron —Effector organ

0.8 Receptor —Sensory nerve — Interneuron — Motor
nerve — effector organs

Motor nerve — Interneuron — Effector organ —
Sensory nerve — receptor

[ad

4. Interneuron —Effector organ — Sensory nerve —
Receptor — Motor nerve

Sletflgems efleo GNISS Soeueoserienr arflwmen

(pemmEn  HETLNIHE®.

1. 2_600TIT&SIBITLDL|—>&_600TTOUMTRISH6IT—> HLLEWEIT
BILDL—> @ewLuil BBILL—>\FWeomDmID 2 myLiL]

2. 2 _eweuMmhIB&eT—>2 ewniafmInL— eoLuit®
DL —>&LLEWETHIDL—> FWEMDHMILD 2 MLl

3.  SLLe®aTHILDL—> RewL Uil BBILbL—>6)\FWeomHMILD
2 _MILIL|—>2_60uTTEHBILDL|—>L_6U0TITEUMMRISSHENT

4. SewLUI(BEIDL—>6EFLSOMDMIDe_MILL|—> 2 _6uonTEs
TBLDL|—>2_6U0TTEUMTRKBSEST —>SL'L 6W6IT THILDL]

Options :

1. % 1

2.9 2

3. %3
4.% 4

Question Number : 73 Question Id : 3922664793 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



External fertilization can be seen in

a. Frog

b. Whale

i Fish

d. Star Fish

a.  SeUEDAT

b.  Sbmse0LD
C. LSeor

d  mLesdr e
L. b: ¢ 4

2 a. b

3. ¢, i

4, a, ¢, d
Options :

1. % 1

2. % 2

3.% 3
4.9 4

Question Number : 74 Question Id : 3922664794 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The stage of an embryo in which all the body parts can be
identified 1s

i, Zygote
2] Blastula
3. Gastrula
4, Foetus

DIWEUISH L 160 L MULSEWETUD  SHeWLIWMeTLD
STE0ISEAW S(Hellerr Bemned

 § &(H(LPL 6L
2. Wlermeno(Beomr

3. &ITETOL(HEOIT
4.  evurLLD

Options :
1. % 1
2. % 2
3.% 3
4.9 4

Question Number : 75 Question Id : 3922664795 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The parts in the stamen are

1. Anther. style

2. Style. filament

3. Anther. Filament
4. Style. Stigma

D&IHESSDHE0 LIMSHRIGEI

1. LD&ITH&GEMLI, 5605600T(D

2. 560560010, LDSIHSEHSLDED
3. LDBIBIEWL, LDSIHSSHELDE0
4.  HEOFEWI(B, FHEOLPLQ

Options :
1. % 1
2. % 2
3.3
4. % 4

Question Number : 76 Question Id : 3922664796 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Identify the plant that can produce new plants from detached
leaf part of parent plant is

1. Bryophyllum
2. Hibiscus

3. Marigold

4. Rose

SN STeuTSHHeT BRemeoudleor, SHIevoToHSUILILL
UT&SH0HES CFUSTOUTSHMS 2 (HEUTSHEGLID
SMEUISMS HET0TL)l.

1. Brevndseer

2. 6\ FDUmSS

N EEA NG

4. Qe

(ad

Options :
1.v1
2. %2
3.% 3
4. % 4

Question Number : 77 Question Id : 3922664797 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



They carry ‘Hunger Generating Signals’ to brain

1) Diencephalon

i1) Trigeminal nerve

i11)  Cerebellum

iv)  Vagus nerve

‘LSlemw Setor(BD’ FLEHENSFHEMET CLPEMETSHE
6\HMTEU0T(H  6)F60LIEM6Y

1) L LLI60T6&LIGO60T

ii) " 6mI61ERLBI60T60  [HITLDL]

iii)  &mieLpemer
iv) Geus6iy MHILDL
1. i&ii
2. li&iii
3. di&iv
4. 1&1v
Options :
1. % 1
2. % 2
3.% 3
4.9 4

Question Number : 78 Question Id : 3922664798 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Find the mismatched pair

| Testes — Testosterone

2. Ovary — Progesterone

3. Pituitary — Leutenizing hormone
4. Adrenal — Thyroxine

Feupmerr GeRmeenwt SHenLMHHE.

1. ellbg&D - 6L eGLTeIETTes

2. SiewIL&D - LGrme)ggeni@mmest

3. Miupredl - eumeenentdm emmiTELDMET
4. SiLrfleored - emsImEH6rOl6tT

Options :
1. % 1
2.% 2
3.% 3
4.9 4

Question Number : 79 Question Id : 3922664799 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The part of the brain that controls Heart beat

1. Cerebrum

2. Medulla Oblongata
3. Cerebellum

4, Diencephalon

epevemuiiens BT LSS BSWSSIQUIEL
HLBULESSISDS
L. eILI(RHeLpemerT

2. (pG6D
3. lmjpemer

4, LLLI60T6\&FLI6V6TT
Options :
1. % 1
2.2
3.%3
4. % 4

Question Number : 80 Question Id : 3922664800 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The organisms that excrete uric acid

1) snake
i1) fish
i)  bird
iv)  man
upfles Sibleogens sheuns eueflGumbmib
2_udrflevrrrigseit
i) LIMLDL
i)  LBeor
i)  LDeme
iv)  LD6uflg 60T
1. 1& 1v
2, i & il
3. i & iv
4. 1 & iii
Options :
1% ]
2.% 2
3. % 3
4.9 4

Question Number : 81 Question Id : 3922664801 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Identify the correct sentence
1) The right kidney 1s placed lower then left kidney

i1) The right kidney is placed upper than left kidney
iii) The right kidney 1s bigger than left kidney
gflwnenr sapemn SHeoTLMIHHD.

i) suevgl FNPIsL, ALs dAnbrasenseil FHm)
S DHeMIDIHHIETETS).

ii) eueng HnBIsL, @ALs dAnbrasenseill FHM)
GGe0 BHEWLDHFHIETETE).
iii) eueogl HmPrsD, @Ls fnBrssamseil eufiug)
1. 1 & iii
2 1
3. 11 & 111
4. 1
Options :
1. % 1
2.9 2
3.% 3
4. % 4

Question Number : 82 Question Id : 3922664802 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Xylem
1. Transports the food in plants
2. Transports the food and water

Transports the water only

L |

4. Transports the water and minerals
EW&6VLD
1.  gmeugmEeaieo 2 eremel SLSSHENSI
2. SMeulhiFefled 2 6mrey WOMID  SH6E00TE00TEWT
HLEZIEDE
3. Sheurmhisefled Setretotewy WLBL SLEHIBDSI
4.  SMEUITRIGENED SevoTelniT WOHMID SHNEHIGHEDET
HLEZIED
Options :
1. % 1
2. % 2
3.%3
4.9 4

Question Number : 83 Question Id : 3922664803 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Capillaries were discovered by
1. Marcello Malphigi
2 William Harvey

Girolamo Febrici

L |

4. Rene Laennec
FHEIBHENET HETLMIHSHEUT

i LDMITE\F60E60M  LDmevLTgd)
2. eflevedlwid emmrGey
3 EComeoGom  HGULIlE
4, \TG6uT 616060TS

Options :

1.v 1

2.% 2

3. %3

4. % 4

Question Number : 84 Question Id : 3922664804 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Assertion (A): Pulmonary vein carries oxygenated blood.

Reason (R):  Pulmonary vein carries blood from lungs to

heart.
1. A 1s correct and R is incorrect.
2. A is incorrect and R is correct.
¥ A is correct and R is correct explanation of A.
4. A 1s correct R 1s not correct explanation of A.

gamm (A): mienguiged dewr  pSedlgRer st
BI55560F 6\SM60I(H 61F606Q/LD
sngevord (R): miewguiged Hemy, miswruizededmbs

BI55505 RFUSHDEG 6\&HMe00(®
O\ FLENG)

1. Asfl LONID R Feum)
2.  Aseim wpmid R &l

A &, R et6tTug) A eflbsnent sflunen eflen&&D

(8]

4. A gl R eeotugy A elpsmenr &flwnesr eflenssD
606D
Options :
1. %1
2. % 2
3.¥3
4. % 4

Question Number : 85 Question Id : 3922664805 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Identify the organism that does not respire through diffusion
ii; Amoeba

¥ Cockroach
3 Round worm
4. Planaria

LTeusy (pemmudev, SHeundlesen \FWWng 2 uilflesens
STLOIHH®.

1. Subum

2. SIUUTEN Ly&dl

3. e (memerlyp
4. LNGerrGeorrilwirm

Options :
1. % 1
2.9 2
3.% 3
4. % 4

Question Number : 86 Question Id : 3922664806 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The aerial roots are seen i

1. Mangroove plants

2

Aquatic plants

L |

Terrestrial plants

4. Xerophytes

Geung Geurder @eubmieo SmerrLLBSDE
FGUL| [B60& SMEUITRIGET

2. BT SNeuNTRIG6T

3. [Bevs STeUNThISET

4.  LIMEW6LEUETT STEUTTRISHEIT

Options :
1.¥ 1
2.% 2
3.%3
4. % 4

Question Number : 87 Question Id : 3922664807 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The concentration of oxygen at a height of 13kms above sea
level is

]- al
I & of that at sea level
) 1
2. - of that at sea level

2

L |

1
;Df that at sea level

4. % of that at sea level

FLeL UL FHeOmHE 13 S.5 2 wpsdHeo SpdHerdlegstt
DlerTeY

: . 1 .
l. SL60DLL Dierreilen — IDLIRIG

-

2. &LeoLL Sereiilev %Lnl_réj@

By

[N ]

s 2 ] :
SLEODLL Biermeilen S DL

; | .
4, SL6VDLL Diermeilen ILDLI'F:.I@

Options :
1. % 1
2. %2
3.3
4. % 4

Question Number : 88 Question Id : 3922664808 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



‘True’ statement regarding ‘Oesophagus’

1 Passes food to stomach

4 Walls do not secrete mucus

3. Upper end connects to stomach
4. Lower end connects to pharynx

‘2_60IeYSGSPEY GSNSHS L_60TenLDWITEN Fanm)
1 2_6uTenel, BWILMLSS HILILISDS)
2. BG6T FOUMSHET WILLSHmeN SHISHEMS)

LS ]

@GLoev(Lpement, BewILemULGWTH SewerrrEma)
4. BDAPemet, E\GTTTEHLEWTH SRenemurSna

Options :
1.¥1
2.% 2
3.% 3
4. % 4

Question Number : 89 Question Id : 3922664809 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Chlorophyll helps
L Leaves to capture the energy from the sunlight

2. To trap the CO, and convert into energy

Chloroplast to absorb O, through stomata

Tl

4. To excrete CO, through stomata

LUFDHFWLD BRSNS 2 FHeydng
s Beme0s6T, FfwerlLmHE SHHmewed

SrPULSDS
2. CO,emey EIE5F, SHDMELNS LDIHMICUSDES
3.  USMRISENI&HD, BREWE0SHIEWET ELPELDNTE CO, 606
SIBUUSDS
4. BeweusHemeT eUDWTS, CO, w6
eleuefGubmIsuSHS
Options :
1.v1
2. % 2
3.% 3
4, % 4

Question Number : 90 Question Id : 3922664810 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Identify the mismatch
¥ Symbiosis - Beans plant
2 Insectivorous - Pitcher plant

Parasite - Cassia

b

4, Saprophyte - Mushroom

OUNHHSTS CeRmeenit SeurLmMbSH®.

1. ser@uiIfl exmbeywpenm - Leiteiv FmeumLD
2 L FEWETTTEMILD SMeuTD - LIL&T Seuid
3. sl (Devorevntl - Ga:FAwm

4 &IM)I6UUTETONIHET ~ SHTOTTEOTHET

Options :
1. % 1
2.% 2
3.3
4. % 4

Question Number : 91 Question Id : 3922664811 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The roots that store food

A) Potato

B) Sweet Potato

34 Ginger

D) Tapioca

2 _eumtemey GFOEGSGID Geurts:er
A) 2 (HEWETHBLEIG

B) &&&H6mI 6U6TafSEDMRIG

0 Berd
D)  bpeusTefisHpmI&
1. A&B
2. C&D
3. A&C
4. B&D

Options :

1. % ]

2.% 2

3.% 3

4.9 4

Question Number : 92 Question Id : 3922664812 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Identify the mismatch.

1. Vitamin A — Night blindness

2. Vitamin C - Anemia

5 Vitamin D - Rickets

4, [odine - Goiter

OUMBHHESTS GRMeenwt SewTLMBH®.

1. EWEULLLBIEIT A — LDMTEWELS&HE00T BB
2.  eweulLfledr C - RU55CFTENS

3. emeu L6 D - M&sL6n

4.  OIGWMQ6DT - (LP6ITS(LDSEISHSHLDENED

Options :
1. % 1
2.2
3.% 3
4. % 4

Question Number : 93 Question Id : 3922664813 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Identify the substance that does NOT turn blue in Iodine test
1. Idly

2 Potato

3 Milk

4. Cooked rice

SiGwmeett LMGFTHemevtufev, Hev [BMLDMS LOADTS
eWINhHemeT SHevtrLMIBS®.

7 B\ 60l
2. 2 (HeWeT&HSDMRIEG
3 LIT6D
4. Feobss GsFMm)
Options :
1. % 1
2.% 2
3.3
4. % 4

Question Number : 94 Question Id : 3922664814 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Organisms that reproduce through spores are
A)  Fung

B) Hydra
E) Moss
D) Femns

dge0 2 (HeUTHED ePEUD BETLIOHSHLD EIFWILLD
2 _uflrfleord

A)  SMEITT60&6IT

B) emamLUgm
C)  LDmé

D)  ewrgeusi
E A&B

2. A B&D
3. A C&D

4. AB.C&D
Options :
1. % 1
2. %2
3.3
4. % 4

Question Number : 95 Question Id : 3922664815 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The heartbeat of a 6-12 month infant per minute is
6-12 LDMS GLBwSSHalen @swssien (BUILSSDES)
1. 90 - 120

2 80 - 120
3 70 - 130
4. 60— 100

Options :



1. %1
2.9
3.% 3
4. % 4

Question Number : 96 Question Id : 3922664816 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Fermentation of Idly and Dosa batter is carried out by

1) Bacteria
i1) Virus
ii1)  Yeast

iv) Protozoans

@redl bhmib GzMems M6y Lieflas eneuss
2_ge g

i) umssterfluim

ii)  eweuge

i)  F6ML

)  YGomo@Lm@gmeum

1 1,11 & 11
2: 1, 1. 11 & 1v
3 1 & 111
4, 1 & 1
Options :
1. % 1
2.% 2
3.3
4. % 4

Question Number : 97 Question Id : 3922664817 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Percentage of tall plants produced in Figeneration when a
homozygous tall plant is crossed with heterozygous tall plant

GamnGLDTens &6 EYBLEmL SITEUTRIGEHLE0T,  6lamio@IT
EDFGEHEN CVBLEWL  STOUITRIEENET HEOLLTETL  6ILIHEHSLD

QFLWDCUTE), F) Semenpemdpuied 2 (HeUM@LD 6VBLemLS
STeUTRISHET60T FZH6HHLD

L. 100%
& 75%
3. 50%
4 25%

Options :

1.¥ 1

2. %2

3. %3
4.% 4

Question Number : 98 Question Id : 3922664818 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Incorrect match among the following
1. Nimbin - Antiseptic
2. Pyrethroids — Sedative

Tad

Morphine - Pain killer
Qumme Anti malarial drug
un@gg,rrg GezmipemiLl WL@@(B.
IBIDS TI6TT-SMUIRISHEHES LDIHESTE LG (BSME)
emUIfSIMUL60-LDUISS I(HHESTES LILETLIBENE)
LDMTemLI6oT-6u60lB6eun6euyf]
4. GWewentetT-LDGeuflLT GEMUSSE LDHESTS
LLSTLBADS)

I g‘)-l‘-n

(S ]

Options :
1. %1

2.9 2



3.%3
4. % 4

Question Number : 99 Question Id : 3922664819 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Asserssion (A): Siberian crane migrates from India to Russia,
when winter season sets in.

Reason (R): They must keep their body warm to survive
in cold regions of the Earth.

Choose the correct answer.

. A and R both are incorrect

2. A is incorrect: R 1s correct

3. A 1s correct; R is correct explanation for A

4, A 1s correct: R 1s not a correct explanation for A

SHSSI(A): ewFSflel O\&HMHSS6T, GefiTHmeoLD
OBMLRISW 2 | Geor, @pHwinefledlmHHaI
SreouineflD@ 6ueveng GUITS6TMETT

&MIevtiD(R): Lyolulledt Goed 2 efTerr Wsa@Gerinmeot
NnGsamseflen, U NewPULSDSETS
SlUDNETT 2 L6ewey, FHLMS emeUSHHHLILIS
Sieudlwib.

grilwmeor eflemLem SHevorLn)l.

i, A wOHMID R gevor(BD H6um)

2. Ageim), Rl

3 A&, Reerug A eflpsmer &flwmsor efleT&sLD

A &, Reerug A efipamenr Fflwmeor efleTasD

DH6060

P

Options :
1. % 1
2.9 2
3.% 3
4. % 4

Question Number : 100 Question Id : 3922664820 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



These are Not soil conservation methods
a) contour planting

b) planting gliricedia on field bonds
C) planting crops along the slope

d) Repeatedly planting the same type of crop in the
same field

LDETITEUETSENG LMHISHTESNS, (LDEDNSHEHET
SIEDLWIMTETD SHT600TS.

a)  &ley efleusmu (Lpewm

b) euwev euguyserflev Berfifduim FmouIHmns
BUEITITSHE60

c) gfley OBBBed LUIABHe0

d) 061 Beoosdeo @Cr euems Lulenr LeworBLD
esor(Bo  LuIfBEe0

I a&b
2 b&c
3. c&d
4. a&d
Options :

1. % 1

2.% 2

3.¥3

4. % 4

Question Number : 101 Question Id : 3922664821 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The Primary CO, acceptor in C4 plants

1 Ribulose bisphosphate

2. Phosphoenol pyruvate

Phosphoglyceric acid

4. Ribulose

C; SFMeUIThISETEDL (LPSH6ETTENLDINGS CO, emeu HISLILIEDEY

1. fiyGeormsiy  LAsnoLImenNGLIL

2. umenilenrmey emLieHGouL

L ]

3. umen@ur BeflFflas DHidleold
4. MfiyGeormen

Options :
1. % 1
2.2
3.% 3
4. % 4

Question Number : 102 Question Id : 3922664822 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The mechanism of opening and closing of photoactive
Stomata 1s explained with K™ pump theory by

1. Levitt

2 J.C. Bose
3. Henry Hill
4. Calvin

K™LIb 585ieusSetn epeold, Refled sllenemumisl,
Bnbgl, epBD BeweosgieneTullsit \FILmeD
eNleTS BT

Geveilll

3. J.C. Gurmen

3. elemeiTn)l  aniled
4. S TELER60T

Options :
1.¥ 1
2. %2
3.% 3
4. % 4

Question Number : 103 Question Id : 3922664823 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



According to Whittaker. Non cellulosed cell wall and
multicellular, heterotrophic. nuclear membrane containing
organisims

L. Plantae
2. Protista
3 Fungi

4, Animalia

el Lanflelr sapmiuLi, 6FaGsms DM 61§60
F6UT LHMID LeveFso, Lmeufl 2 ewrepllld 2 L&
gFeue)y 6\&mevor 2 _ufrfleord

1. LNemesoTGL
2, HGomgeroLm
3. SITEITITE0T

4. HHeuflGoedlwm

Options :
1. % 1
2. %2
3.¢¥3
4. % 4

Question Number : 104 Question Id : 3922664824 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



A newly emerged Pandamic COVID — 19 is caused by
1. SARS — CoV -2 Virus

2, SARS — CoV — 1 Virus

3. SARS — CoV — 3 Virus

+. CORONA virus

udans 2 (meuresr UMerLils COVID - 19 &&
SITT6U0TLDTE0T )

1 SARS — CoV — 2 eméugen
2 SARS — CoV — 1 emeumsn

Tad

SARS — CoV — 3 emeuren
4. G\SIMIIEOTT 6MEUT6I)

Options :

1.4 1

2.% )

3.% 3

4. % 4

Question Number : 105 Question Id : 3922664825 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The phenotypic ratio of F, generation that shows Incomplete
Dominance

(PIDEWDWMTS LrRiG U6t 6\&metorL, F, Fmhgdulleor
ynsGsmbm Uetoriedn eS@sLD

8 3:1
2 L]
. A
4. 4:0

Options :

1. % 1

2.2

3.% 3

4, % 4



Question Number : 106 Question Id : 3922664826 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The book ‘Families of Flowering Plants’ is written by
1. Bentham & Hooker’s
2 Engler & Prantl
3. Linnaeus
4, J. Hutchinson

‘Families of Flowering Plants’ 6160110 [RIT6We0 6T(LDSHUI6UIT
1. EILUSITHLD & QUDEHSIT

%, eTTRIEMT & LIJTeTLED

3.  ebletT@euTiLs

4. I emglengeot

Options :
1. % 1
2.% 2
3.% 3
4.9 4

Question Number : 107 Question Id : 3922664827 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Plant that show Hypohydrophily

1. Vallisneria
2. Hydrilla

3 Zostera

4. Pistia

‘smanGuTenamLGrmied emw &ML(BLD STeurLD
L eumedlenBriwim

2.  emamLrileoeor

3. Gezmexplomm

4.  Werowuim

Options :
1.% 1
2.% 2
3.3
4. % 4

Question Number : 108 Question Id : 3922664828 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The incorrect reason to say ‘Peaseeds swell more than wheat
Seeds’.

1. Pea seeds contain proteins. so imbibition 1s more

2, Wheat seeds are made up of carbohydrates, so
imbibition is less than proteins

fad

Carbohydrates have high imbibing capacity compared

to proteins

4. Proteins have high imbibing capacity compared to
carbohydrates

‘UL mevofl 6lemg&ert, GHMTHWD cllenGemilieil.. SHHSHLDTSH

LKHLDETTEMLLLD” 61607 &6 SHEUNTET SHTIEU0TLD

1. LI L el eflemzuled UJ&D 2 _6Tengev,
2 _eTerfigen BSOS 2_6Teng)

2. QGongemp efemaseT  SMEUTenauL GrL Q660
SHEUTH.  SHEMSWTED LISSenSeL 2 _sTerfigen
&swMmeY

3.  &meumemamLCr@seT LIssCsn®
RUIBemsUTL HPa 2 eerfiiger Hmeor
E1LDHMEm6

4, UIsmseT  smeumenaml Gri@Lssr  ULIBensuien
Sihs 2 _etaffiigeo Snesr WDmen6y

Options :
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Plants with less significant roots. absence of root cap. absence
of stomata and contain aerenchyma are

I Mesophytes

2 Xerophytes

3. Hydrophytes

4, Lithophytes
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Plants that send haustorial roots into the xylum of the host
plant to get water and minerals are

I Viscum . Striga

2, Viscum. Rafflesia. Vanda

3 Rafflesia. Cuscuta

4, Rhizophora. Avicinnea. Vanda
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The composition of oxygen in dry air by volume is

2 _eoff&mlen S serdleReuflett &eudiemey
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Heparine synthesizing blood cells are

1. Acidophiles
2 Neutrophiles
R Basophils

4. Lymphocytes
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Human Insuline contains 51 amino acids. In that

1. Chain A has 30 Anuno acids & chain B has 21 Amino
acids

2. Chain A has 21 Anmuno acids & chain B has 30 Anuno
acids

3. Chain A has 20 Anuno acids & chain B has 30 Amino

acids and Chain C has 01 Amino acid

4, Chain A has 30 Anuno acids & chain Bhas 20 Amino
acids and chain C. 01 Amino acids
6flE eoTE60l60r 51 HOGETTT HLSI6OMRIHEWENT
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The most common abnormalities that can be detected by
Amniocentesis

1. Down syndrome, Hypertrichosis

2. Edwards syndrome, Hypertrichosis

Tl

Down syndrome. Edwards syndrome
4. Hypertrichosis. Hypotrichosis
uesfls@L SemerLiL] urflGsngement ELPEVLD
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Father of modern Embrvology is
i Erst Haeckel

2, Stanley miller

Tad

Herbert Spencer

4. Van Baer
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The excretory organ that decomposes Haemoglobin of worn-
out RBC’s in the human body

i Skin

2. Kidney
3 Liver

4 Lungs

el 2 Ledlew, SifiBg Gumsnr &rss Feuly
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Pantacronematic flagella is seen in

1. Urceolus
2. Monas
2 Polytoma
4. Astasia
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Correct sentences related to Haemolymph of periplaneta
i) Haemolymph is colourless and has plasma.

i1))  Haemolymph has no corpuscles.

iii)  Phagocytes engulf germs to protect.

iv)  Haemolymph does not transport secretions of
ductless glands to target organs

ewrfiNernesr@Lullesr, an@wmediol GMiEs Filwnes
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Identify the incorrect pair

1. Cytozoic - Nosema

2. Histozoic - Entamaoeba
3 Coeozoic - Wuchereria
4. Monogenetic - Ascaris
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The only cells of mesodermal origin in the nervous system are

1. Satellite cells
2. Schwann cells
3. Microglia

4. Astrocytes
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The specific behavioural change of the student after
completing teaching is known as

1. Objective

2. Aim
3. Specification
4. Goal
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The word “Biology™ was first used by
1. Charles Darwin
2 Mc. Dogel
2. J.B. Lamarck

4. Williamson
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A student defined ‘Photosynthesis’ by using exact terms. This
behaviour is related to the following objective

L Knowledge

2. Understanding

3. Analysis

4, Evaluation

&(H  LDITEUOTEUE0T ‘RaflFEsams’  suenILImDEmL
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A student has shown mterest to make an improvised model of
stethoscope at home. According to Krathwohl this belongs to
the division

1. Valuing

2 Responding

3. Receiving
4. Organizing
1 LDTEUOTEETT ETEOTLIEUIT el 19 Geo @l
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One of the following characteristics is NOT applicable to
objective

1. Has academic importance
7.8 Observable 1n student’s behaviour

Achievable m specific time period

(S ]

4, Based on teacher’s competency
EDSEHELEUDNIE R(FH L SMIECETEHES
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Teacher’s casual leaves are to be considered while planning
i Lesson plan

2. Unit plan

3. Year plan

4. Period plan
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To prepare a period plan for the topic ‘Agriculture’, the first
step to be taken is

1. Selecting teaching aids

2 Selecting academic standards

2 Selecting content

4. Preparing Questions for motivation

‘GeuerTmentTenlD’ eTend LMLE SeweoLifesr LNfliGeusmens
SLLEMS sSwnis@ Gung Yeupn Geustoriul
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This can be mentioned while teaching about Louis Pasteur
1. Natural selection
2. Germ theory of diseases

Theory of Inheritance

[N

4. Germplasm theory
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When a teacher explained about Venom glands by showing
Scorpion specimen. This type of learning experience received
is

1 Direct experience
2, Representative experience

Indirect experience

L |

4. Specialized experience
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After discussing the characteristics of animal and plant cells a
teacher asked students to observe the cell structure under
microscope. The teaching method 1s followed 135

1. Deductive method

2. Inductive method

3. Demonstration method
4, Heuristic method

FMeug  WOMID  6fl6Uk®  6\F606Dl6OT  LIGTIILIGHEm6IT
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7™ class students learned “Water ecosystem’ by making an
aquarium in the school. the teaching method followed here 1s

i Heuristic

2. Project

3 Problem solving
4. Demonstration

7 OHD 6USLIL] LDITGUITEUTE:EIT ‘SHEVIGU0NT F5LD6D LDEGITL 6ULD
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The best method to teach ‘Flower and its parts’ to 7™ class
students 1s to

8 Explain through diagrams
2. Define parts of flower and show them
3. Ask students to observe parts of flower in different

flowers and tell the details
4, Give a lecture about the parts of a flower.
7 Q4D  6UGLL  LDMETUTEUTSHEH&SE LD LDMHMILD
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The concepts. hypothesis developed in the classroom are
validated in this method

1. Heuristic method

2. Project method

3 Laboratory method
4. Assignment method
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‘Performing a drama’ is an example for this project

1 Consumer project

2. Producer project

2 Drill project

4. Problem type project
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In Bloom’s Taxonomy ‘evaluation’ is at top order where as in
revised classification. this 1s at top order.

8 Analyzing

2. Executing

3. Creating

4. Synthesizing

L ey Aaerad £
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Teacher explains about this while teaching ‘yellow revolution’
L. Pisciculture

5, Milk production

c 4 O1l seeds

4. Orchards
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This teaching pedagogy welcomes conflicts in children life
into classroom

1. Idealistic Pedagogy
2. Critical Pedagogy
3. Organic teaching

4. Pictorial pedagogy
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The term library 1s derived from this Latin word
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In Multi sensorial teaching approach — VAKT. K-Stands for

L6y 2 ewliey &MMBS SOOGS0 DismGpenmuileo
VAKT etettugev K emey @MILLIG)

L. Knowledge
Z Kinesiology
3. Kymatology
4. Kinesthetic

Options :

1. % ]

2.% 2

3. % 3

4.9 4

Question Number : 140 Question Id : 3922664860 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Instructions given in a question are complex and ambiguous.
This question does not have

. Validity
2. Reliability

3. Objectivity

4. Discriminative power
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Weightage given for the academic standard. Asking questions
— Making hypothesis in summative evaluation is
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The Dutch educationist stated that rote learning should be
removed from education system 1s

L.
2

L |

4.

John Comenius
Desiderius Erasmus
Dwite Allen

Olive Morgan
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Identify mismatched pair

i Comenius — Published a book on children’s Science
experiments
2. Rousseau — Remove unnecessary words in teaching

Froebel — Priority given for pictures in teaching

[N

4. Montessori — Sensory organs are gateways of
knowledge
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One of the following evaluations is useful to know the
strengths and weaknesses of students before starting Teaching
Learning process

i, Formative evaluation
2.7 Peer group evaluation

Diagnostic evaluation

L |

4. Self-evaluation
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This i1s one of the limitations of Herbart approach in the
preparation of lesson plan

1. Activity based

2. Follow both inductive, deductive methods
3. More priority is given to teacher

4. Recapitulation
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This suggests certain tools and strategies followed by teacher
to make students to achieve general. specific objectives 1s
known as

1. Basic curriculum

2 Year plan

3 Lesson plan

4. Unit plan
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According to Edgar Dale the following experiences have ever
lasting effect on learning

E Visual experiences

2 Activity based experiences
3. Audio visual experiences
4. Auditory experiences
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This 1s NOT in the first step of period plan
1. Mind mapping

2. Demonstration - Discussion

% Announcement of topic

4. Probing questions
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Correct sentence related to field trips

a. Using community resources

b. Bringing community to the class

C. Taking class to the community
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The word curriculum is derived from a Latin word
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The 10 core elements in the curriculum was emphasized by
E Radha Krishnan Commission

2 Mudaliar Commission

3. National Policy on Education - 1986

4. National Education Policy - 2020
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Hunter score card is related to

1. Intelligence test

2. Personality inventory

3. Interest inventory

4. Textbook evaluation tool
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First step in 5-E model of learning
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L Explore
2. Engage
3. Elaborate

4. Evaluate
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One of the following characteristics is NOT relevant to the
improvised aid

E made of locally available material

2 Technical knowledge is required to prepare
3. Economically useful

4. less time 1s required
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Universal antidote 1s a mixture of
1. Charcoal. Magnesium oxide and Boric acid
2. Charcoal. Magnesium oxide and Tannic acid

Charcoal. Hydrogen Peroxide and Boric acid

Tl

4 Charcoal. Sodium Carbonate and Tannic acid

upsufleuiged ShetmeGLIL EWwng efleg (pmle) @60
SH606MEULLIMEGLD

1.  wrssd, ewsetaud SHEHFE  LOHMID
Gunmla BibleuLd

2. wpsaf, ewseiaduid HHMHFH  LDOHMID
LetTeufls DiLblevld

3. r&sfl, ewapLggRe 6UINSen&EH  LDMHMILD

Gunls SibleoLd

4.  Dp&&Ml, @GFmouid &SMTUG6NTL MHMID LTeisuils
SiLbleoLd

Options :

L% 1

2.¥2

3.%3

4.% 4

Question Number : 156 Question Id : 3922664876 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The first aid to be given in case of acid burns in the science
laboratory

L. Wash with large amount of running water
II. Neutralize with sodium bi carbonate
III. Neutralize with 1% Acetic acid

IV. Wash with silver nitrate
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Conduct nterview on plant and animal products is relevant to
this academic standard.

i Experiments. field investigations
2. Information skill. project work
3. Conceptual understanding

4. Concern to biodiversity
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Identify wrong statements regarding science

1. Aurrests rational thinking
2. Promotes skepticism

3. Demands perseverance
4. Dynamic in nature
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Discovering Covid vaccine is related to this Biological
Science value.

1. Utilitarian value
2 Moral value
3. Medical value

4. Cultural value
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The author of books ‘The Living and Non Living’, ‘The
Nervous Mechanism of Plants” 1s

1. Birbal Sahni

2 Rosalind Franklin

3. J.C. Bose

4. Elizabeth Black Burn
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